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modelcrit <- function(f) {

# 000 f$residl f$coef 0 rsqadj aicO O OO0
list(rsqadj,aic)

}

£ <- 1lsfit(x,y)

a <- modelcrit(f)
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mypca2 <- function(x, cor=T) { # cor=TOOO0OD0O0OO0@OOOO)
# 00x0000
# 00 cor=TOOOOOx0000
s <- mysvd(x)
# 000 y,z,b,lambdal 00
# 00000
list (u=s$u,v=s$v,d=s$d,y=y,z=z,b=b,lambda=lambda)
}
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mybiplot2 <- function(p,alpha=0,...) {

# p$u, p$v, p$dl alphall zal balO OO

za <- 7777

ba <- 7777

mybiplot(za,ba,...)

}
p <- mypca2(x) # D00000000000000000
mybiplot2(p) # 00 00O OO alpha=0
mybiplot2(p,1) # alpha=1000
mybiplot2(p,0.5) # alpha=0.5000
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